
Xissuchthat

P(X<x)=1−e
−ax

Ifa=3,findP(X>1)

0.
95

0

0.2

X foll
ow

s a
n e

xpo
nen

tial
dis

trib
utio

n

wit
h par

am
eter

5.

The
var

ian
ce

of X
is

Xissuchthat

P(X<x)=1−e
−ax

Ifa=
2,findP(X>1)

0.1
17

X is s
uch

tha
t

P(X
<x)
=1
−e
−ax

If a
= 2,

find
P(X

<1
)

0.8
65

X
follow

s
an

exponential
distribution

w
ith

param
eter

2.
T
he

m
ean

of
X
is

0.393

Xfollowsanexponentialdistribution

withparameter3.

ThemeanofXis
0.
5

100 0.029

X
is
su
ch

th
at

P
(X

<
x)
=
1
−
e
−
ax

If
a
=

3,
fin
d
P
(0
.5
<
X

<
1)
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1
9

X
fo
llo

w
s
an

ex
po

ne
nt
ia
l
di
st
ri
bu

ti
on

w
it
h
pa

ra
m
et
er

0.
1.

T
he

m
ea

n
of

X
is

Xfoll
ow

sa
ne

xpo
nen

tial
dis

trib
utio

n

wit
hpar

am
eter

5.

The
me

an
ofX

is

X foll
ow

s a
n e

xpo
nen

tial
dis

trib
utio

n

wit
h par

am
eter

0.1
.

The
var

ian
ce

of X
is

10

X follows an exponential distribution

with parameter λ.

If λ =0.5, find P(X<1)

0.050

0.
17

3

Xfoll
ow

sa
ne

xpo
nen

tial
dis

trib
utio

n

wit
hpar

am
ete

rλ.

Ifλ
=0.

5,
find

P(X
>1

)

X foll
ow

s a
n e

xpo
nen

tial
dis

trib
utio

n

wit
h par

am
ete

r 3
.

The
var

ian
ce

of X
is

0.25

1
3

X
follow

s
an

exponential
distribution

w
ith

param
eter

2.
T
he

variance
of

X
is

0.04
0.
91

7

0.6
07

X foll
ow

s a
n e

xpo
nen

tial
dis

trib
utio

n

wit
h par

am
ete

r λ.

If λ
=0.

03,
find

P(1
<X

<2
)

X
follow

s
an

exponential
distribution

w
ith

param
eterλ

.

If
λ
=
0.03,

find
P
(1.5

<
X
<
2.5)

X is such that
P(X<x)=1−e −ax

If a = 2, find P(1<X <2)

0.135

X
is
su
ch

th
at

P
(X

<
x)
=
1−

e
−
ax

If
a
=

3,
fin
d
P
(X

<
1)
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